ZR-7T HUGGER

Part # 07328

Fitting kit contents:

a) 1 x right hand swinging arm strap bracket (2 pieces) CFK07328

b) 4 x M6 x 16mm stainless socket screw CBOLM60008
¢) 4 x M6 washer CWASM60003
d) 1 x M6 x 12 button allen bolt CBOLM60007
e) 1 x M6 Shake proof washer CWASM60002
f) 3 x M6 Cage Nut CNUTM60008

General information.

The ZR-7 hugger features an integral chainguard and the original guard is therefore discarded.

As with all huggers this model is designed to fit close to the tyre section, and as such should not be used
where an oversize tyre is fitted.

When all fasteners are fully tightened, the hugger should sit centrally over the tyre profile when viewed
from the rear of the machine .

The tolerance in the right side mounting bracket allows adjustment to achieve this.

As with all bolt on accessories, the mountings should occasionally be checked for tightness.

Fitting instructions:

With the bike on the centre stand, first remove the standard chainguard.

Mount the strap bracket (a) by loosely attaching the single underside fastener (d) and (e). the bracket
should be positioned so that when the hugger is offered up the two cut out slots on its bottom edge sit
centrally over the two brake hose retaining wires.

Offer up the hugger and attach loosely to the left side using 2 x (b) and 2 x (c).
Attach to the right side bracket using 2 x (b) and 2 x (¢).

Note: both fingers of the bracket should be inside the hugger.

Tighten, but do not nip-up all fasteners

Check the central alignment of the hugger by viewing from the rear of the bike and fully tighten all
fasteners.



